6)

a) gImeT b) faEuTIeT

c) 3qeced d) JeehfAfAT
................ is not the type on chemical process.

a) Combination b) Displacement

c) Decomposition d) formation of magnet

a) 1.5 cglec b) 6 <glec

c) 4 cglec d) 4.5 BloT

How much volt electric energy will be obtained from 4 dry electric cell?
a) 1.5 volt b) 6 Volt

c) 4 Volt d) 4.5 Volt

a) 4000° 4. b) 6000° .

c) 5000° . c) ITYHT HIOTAET ATer.
....................... °C temperature is there on the surface of Sun?

a) 4000° C b) 6000° C

c) 5000° C C) None of These

S AHAS Tl ... e sidel aTRdlNe AT

a) 1800 b) 1897 c) 1906 d) 1920

J. J. Thompson got the Nobel price in .......ccevveveenneen.

a) 1800 b) 1897 c) 1906 d) 1920

1 forollald SITehSTITET ....... Foll TAes.

a) 1500 *. gl b) 1700 @f.\rzloc‘»l

c) 2000 . ool d) T HIUTART =Ter.
How much energy is obtained from 1 kg wood?

a) 1500 kilo Joule b) 1700 kilo Joule

c¢) 2000 kilo Joule d) 1700 kilo Joule

a) fStamy b) fawmor c) g d) Irdehr ARr
Polio is caused by ..............
a) Bacteria b) Virus c) Fungi d) None of these
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10)

11)

12)

HIeT AT ITA?
a) hard FolarHed
c) Toilg g fAsiaaey

Carbon is presentin ............. .
a) Living things only
¢) Living and Non-living things

.............. IT FGTAT YICdRT FguTdTd.

a) Ash b) %

o] f)
............. planet is known as Morning Star.
a) Venus b) Jupiter

Grellerdehl HaTd faWRY dry HIoTer?
a) IRENA

c) oW SI3TFASS

The most poisonous of all gases is .............. .

a) Argon
c) Sulphur Dioxide

fegatoaey ... 3F 3.
a) TR b) JTafeH
......................... acid is there in the vinegar.
a) citric b) acetic
1 3 10
qéter #Arferer qof &1 =, —, 7, —
> o 24 256
5 5
1 3 10
Complete the series of —,—, ? ,
274 256
5 5
ARGSTT gaulle ....... 3R,
a) 1700°C
c) 2000°C
The melting point of iron is .......ccccveeueenee.
a) 1700°C
c) 2000°C

—

b) Werd fsiiarAed
d) IrdT AT

b) Non-living things only
d) None of these

c) 9Y

c) Mercury d) Mars

b) T AANTFATSS

d) 9rogrdr a1k

b) Carbon Monoxide
d) Water Vapour

c) Tl d) FEffas

c) tartaric d) carbonic
6 6

b) 1535°C

d) TRT FORE A,

b) 1535°C

d) None of These

1
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13) el 1498 HEY VAT IS TARIA $RcThs AUITar HET Merel?

a) srfelley s b) aTEeRI-G-ITAT
c) Bi3dATS Harelol SREIEGLE

Which Portuguese sailor found the way to India in 19437

a) Bartholomew Daiz b) Vasco - da -gama
c) Ferdinand Magellan d) Wyclef

14) ol AY ‘ gf3ar g3 < TATIAT FHIof dhell?

a) 3. W@ b) dTell gCATS
C) Y. QATHSI FHooT FHAT d) #TS Siadrer
Who founded ‘India House’ in London?

a) Dr. Khankhoje b) Lala Hardayal
c¢) Pandit Shaymiji Krishna Varma d) Bhai Kotwal

15) ‘HRdAdSs AT AT TATIAT IOl dhell ?

a) 9f3dr IAES b) TelaTeR

C) YT 0T NGl d) ARMIOT AL dEs
Who founded ‘Bharat Sevak Samaj’?

a) Pandita Ramabai b) Valangkar

c) Gopal Krishna Gokhale d) Narayan Meghaji Lokhande

16)  FRTSATST HerclliceT HioTedr feael AR el STel?

a) 17 =X b) 18 X
c) 21 s} d) 25 gcdsX
On which day Marathwada Mukti Din is celebrated?
a) 17 September b) 18 September
c) 21 September d) 25 September
1) N g ufged NRemgl, Taadre JeRisd 3o,
a) AR b) wIed c) 9Rd d) SiTeTeer

............................ is the first democratic, republic federation.
a) America b) France ¢) India d) Bangladesh

18) TadF HRATET Ufgell fAE ISgeast IS HIhall?

a) $EfAAR VIGIGIETZ:I

c) drsHgTe d) gdarHAger

Where was the first independent Indian tricolor hoisted?

a) Kutub Minar b) Red Fort c¢) Taj Mahal d) Hawa Mahal

—
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19)

20)

21)

22)

23)

24)

25)

HRATATS S3Tei TOdT 91T IS OTdell elr?
a) deols b) 3 c) Farel d) T

Where was the foundation of British rule led in India?
a) Chennai b) Kerala c) Bengal d) Goa

. = ﬂcgﬂd{ e AT 3ATT AT AT,

a) gATIA b) Fa3rel

c) T 3egter d) 3Reree argerEr

After the death of ---------- Mughal power started declining.

a) Humayun b) Hyder Ali c¢) Shuja ud daula d) Aurangjeb Badshaha

‘FITQATAE AT I Tiedl TTART TSeedd ‘ITdaea shegl TATYT Fhol?

a) 1942 b) 1945 c) 1991 d) 1930
When was Prati Sarkar founded in Satara by Krantisinh Nana Patil?
a) 1942 b) 1945 c) 1991 d) 1930

gLl FETETOHTST HHY IOTNT SHioT ?

a) e oFW b) W38 Herelet
SIEUGIGE d) aTERI-g-ImAT
Who encompassed the earth?

a.) Martin Luther b) Ferdinand Magellan
¢) Galileo d) Vasco da gama

STHAT SaAX AT SV T AgHTT Jar 3R,

a) Ted TFEYH b) AgTATT
c) JiciETH d) gR g

Which is the railway rout in Germany connecting to the other countries?
a) Trance Express b) Highway c) Autobance d) Super Highway

.................. SR IR FUcAdT JEATIH TS&T 3TE.

a) ¥R b) 4T c) Hrerenr d) et
Who is the founder member of World Trade Organization?
a) India b) Nepal c) Sri Lanka d) Bhutan

SColldTel AU QET PIUTAT Agiax adel 3Tg?

a) TSR b) 3T c) FTAT d) =g
On which river is the Rome city in Italy situated?
a) Tiber b) Oder c) Kama d) Munich

( 1
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26)

27)

28)

29)

30)

31)

32)

IRIAR THTATHA AGHRT FleAT STEIOT AR IO G HsTgeT farer dHherr?
a) drelgcar b) fatrard dheraue
SIEIGIEEIR d) gaerar

Which practice was strongly opposed by Periyar Ramswami Nayar in South India?
a) Infanticide b) tonsure of widow c) child marriage d) Devdasi

GrolToTiehT SIUTCAT FEHAYS A SToTalgesh FTaaul sholl ST,

a) Bea b) Tesd c) Seg& d) 3=
In which of the following river internal navigation is done effectively?
a) Ragin b) Elbe c) Danube d) Oder

‘3fTTheroT Yeer HIuTT At ufhdeh gafea amg.

a) Py b) SaTeTeEY

c) gATH d) fasar Irg9rEe

To which natural process is agnikankan territory related?

a) Earthquake b) Volcano c) Tsunami d) Thundering of light

3SUT IUATEAT SATATS] WTelleliehl HIoTdT S FUieH 3Te.
a) 3STes b) IfeTels C) ISY3TeATels GIGIEE

Which of the following country in well known for the streams of hot water?

a) Iceland b) Greenland c¢) Bechuanaland d) Namaland
STolldid HAA-UH-TTeH &T ... AT 7O AT 3T

a) Jed b) T&dT c) &= d) #FFd
Milan Rom Naples in Italy is a famous -------- route.

a) Railway b) Road c) aeroplane d) Open

T GsTelleT AT S ol AT ot ?

a) ASd b) cgreram c) o7 g d) afT
Which is the longest river in European Continent?
a) Nile b) Volga c) Thames d) Tigris

Shelehdl AR PIUTAT AT 3TE?
a) A b) Merar c) HA d) g

o]
Which river is located in Kolkata?

a) Sabarmati b) Godavari c) Cooum d) Hughali




33)

34)

35)

36)

37)

38)

39)

Grelledehl IOTAT fead TYFd Tsg &t FgULT HISRT el ST 2

a) 24 I b) 10 3&sX c) 20 St

Which of the following day is celebrated as United Nation Day?

a) 24 October b) 10 December c) 20 July

Greirerdehr faaar 3redfargs Horar?
a) g b) die c) s

Which is the semiconductor ?
a) Iron b) Copper ¢) Germanium

9fATeled Ufdotiderar er ol oaer?

a) T & b) 3felerstis FaIfHaT c) et
Who invented Penicillin Antibiotics?

a) Robert Hooke b) Alexander fleming c) Newton

Grelleehl qoT a9 wHelell HEAT HIoTcl ?
a) 8464 b) 2209 c) 1980

Which of the following is not the complete square number?
a) 8464 b) 2209 c) 1980

120, 180, 150 Jr=T FFrar fohdr 2

a) 3600 b) 1800 C) 2400
What is the L.C.M of 120, 180, 150,?
a) 3600 b) 1800 C) 2400

(X + 7) (x - 3) & 3HTTT Wlelleldeh HIorcar I FE?

a) x? - 7x + 12 b) x2+ x - 12
C) X2 + 7x - 12 d) x* - x-12
(x + 7) (x - 3)are the factors of the following?

a) x* - 7x + 12 b) x2+ x - 12

C) X2 + 7x - 12 d) x* - x-12

d) 15 S=ary

d) 15 January

d) I AT

d) None of these

%)

d) ofFasT

d) Thomson

d) 4489

d) 4489

d) 900

d) 900

TET TEIMEr IRIET 8 3. <ATd HIUTAT ATdAr TE&AT [ABarEr Fgurer T 10 g5,

d) 18

a) 22 b) 16 c) 14

The average of six numbers is 8. To get the average 10 which seventh number should be added in
it?

a) 22 b) 16 c) 14

d) 18
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40)

41)

42)

43)

44)

45)

2500 AT 12 %=x T 15 %, dX¥ x=Thdr ?

a) 1800 b) 200 C) 2200 d) 3000
12 % of 2500 = 15% of x, then x = ?
a) 1800 b) 200 C) 2200 d) 3000

800 HI. FI&raT HEEMEY anreft 60 FeEY Jemer Id, aX faer 200 #. ST SETET
3esuarE fhdl do omalet.
a) 12 fAfac b) 1 AT c) 6 fAfac d) 12 Afae

800 meters train runs with the speed of 60 kms per hour. Then how much time it will take to cross
the tunnel of 200 meters long?

a) 1/2 Minutes b) 1 Minutes C) 6 Minutes d) 12 Minutes

TehT TIaBIedT AcldehaI A SITUTAT Sadl ofidl 17 QT 3718, o) o
aqerdl s ol ?
a) 34 §#Y b) 17 G c) 8.7 HY d) 8.5 @AY

The length of the cord of a circle through the center of the circle is 17 cm. then what will be the
radius of the circle?

a) 34 cm b) 17 cm c) 8.7 cm d) 8.5 cm

AhST 10 ABT U3l Ueh Y& 27.50 T. F fdehel. SR T 25.75 .8 fashel 3@d o/ <.
STBT fohar drer fardt 2
a) 3% drer b) 3% =Twr c) 10% drer d) ITdRr Thgr SITEr.

A book was sold to Rs. 27.50 by getting a profit 10 percent. What would be the percentage of profit
or lose if it would be sold at Rs. 25.25?

a) 3% Loss b) 3% Profit C) 10% Loss d) None of these.

0Odd man out.

63550, 90047, 81344, 72551
a) 63550 b) 90047 c) 81344 d) 72551

FeIfegredr Sl HIoTd FE&AT Aser?

Find the number at the place of question mark?

4 5

a) 14 b) 22

d) 320




46) TTelTeT URATT YReATIegTeaT SIEN JUTRY 3MTehcl QMer.

R 3TThcll
(="
=
==L
3dY 31T
a) b) c) d)
Which figure will come at the place of question mark.
Question Fig.
=
o=
Answer Fig.
a) b) c) d)

47) fadaTd 3meplr 3icar.

Odd man out
® ® .. & I
® e 2 < - o ®
a) b) C) d)

48)  =REr aRTACT a adorar WY 176 AT 3§ O AT &TThaIdel Hieh Hlal.

a) 3600 b) 1800 C) 2400 d) 900

The Perimeter of a square and circumference circle is 176 CM. Find the difference between the area
of them.

a) 3600 b) 1800 C) 2400 d) 900
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49)

50)

51)

52)

53)

54)

55)

56)

57)

3-1'I7=Ig_<-ﬁFTTM || PS, TS || PR,?I%'U]\?-TQR= .............
In the figure TM || PS, TS || PRThen QR = .......cccceeu.e.

p
T
8
Q4M 6 S Re
a) 12 b) 15 C) 25 d) 20

TShT AT STell TEAT grue 3Gel ATd &Tthad 98 Tl. Teheh 3Tg.
R AT gAfAST fohdy 3mg ?
a) 42 Taeh b) 7 Teheh C) 14 Ueheh d) 28 Tehe

The length of the rectangle is twice than the width. The area of the rectangle is 98 sq. unit
Then find its Perimeter?
a) 42 Unit b) 7 Unit c) 14 Unit d) 28 Unit

Identify the proper tense in the following sentence :

He had started reading.
a) Simple Past Tense b) Past Progresive Tenes
c) Present Progesive Tense d) Past Perfect Tense

Indicate to what part of speech, the underlined word belongs in the following sentences :
You will pass if you work hard.
a) Preposition b) pronoun c) adjective d) conjunction

Fill in the blanks with appropriate preposition from those given below :
They are very proud ........ their success.
a) to b) at c) with d) of

Find out the part containing an error of construction in the following sentences.
One of the / boys / were crying / in the garden.

1 2 3 4
a)1l b) 2 c)3 d) 4

Choose the correct masculine gender :
a) Pig b) ewe c) bee d) filly

Choose the correct plural form of the word ‘Deer’.
a) dere b) dare c) deer d) deers

Fill in the blanks with proper form of adjective :
India is ......... democracy in the world.
a) large b) larger c) the most larger d) the largest

( 1
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58)

59)

60)

61)

62)

63)

64)

Find out the word spelt correctly from the words given :

a) marchant b) merchant

¢) marchent

Grellerdehl UTTATTET fAIYOIY 3eTg’or hivra?

a) gsehT T b) 37 f&a

Greloidhr /e fharaer g ura ?
b) A M5 ST

a) ISl TUse Fierd
C) YAAA I AR

GTolel JTFATaTel fhITaAToT cTAT™T YR 5T,

(_“T\\J‘ILI‘\O'I Cleh Yidel Sl

gRuTHaS
FTIdTdsh

a

N~—

c)

Tl ATadTdId 3HATTAT TeTIATT Y 3T5T.

STehl JHaT 3T, TR SITHI o3,
a) geIdraIteh
SOREETEINES

IMdGes NI IMGATOT FATSUT AT Fgoiamr Y 3NosdT.

a) IrERTd eTar I QUgroft

b) HY HAOTHIA ETOATe AT ATEY.

c) & HEhld areor

d) #Y AUHAT HET TFsST.

GTollel aTaFdTdTel hidd 3T,

cATTAThs HAGd HUITT 3Tell gldr
a) 3T IAHIS
c) YT SIS

—

c) diefr fHa

d) merchant

d) gedr f&d

d) T T3 WISl CTehell

b) TUeIdTaH
d) fdaras

b) HehclalTereh
d) aRoms artreR

b) I s1dTd
d) &TT $cThId

10
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65)

66)

67)

68)

69)

70)

a) Add I NS - TWT

b) Tehl TaaRTe Ueha 3fTelell HHE - HECH

)
C) GaTSTelel Hcll TsfaumT - RIcqwr
)

a) Shics b) SIEIHT
Which is the capital of Manipur State?
a) Imphal b) Kohima

3ITTATS 3YYFA SO fad=T 2ner ol arger ?

9]

a) Fih b) AT

Who invented the script usefull for blinds?

a) Cock b) Salk

faeg el AT Teheh HIUTA ?
a) FFdT b) cglec

What is the unit of measuring electricity power?

a) ampere b) Volt

‘TR B 3T Beedr gART § g ol fafger ?

a) ISR b) IMTelia

Who wrote the song ‘Sare Jahanse Achha Hindosta Hamara ’?

a) Guljar b) Galib

AR Adey NI DU ?
a) s dcgel

c) s WA

Who was the last Viceroy of India?

a) Lord Vevhel
c¢) Lord Dafrin

—

¢) Gangtok

c) gl

c) Henry

c) de

c) Watt

c) HIgHE SFdTd

¢) Mohammad Igbal

VIGIEREGRE]

d) @8 #ATScded

b) Lord dalhausi
d) Lord Mountbatan

11

d) Usrarer

d) Ejwal

d) ol I5d

d) Braille Louis

d) 3NgH

d) Ohm

d) 3FdT s

d) Amruta Pritam

—t



71)  gauT #HER HIUTAT TR [&UT 3m8?

a) AT TR b) 3 TR
c) ol TR d) d§d EaT
In the middle of which lake is the Golden Temple located

a) Amrit sarovar b) Uri lake

c) Golden lake d) santh Sarovar

72) AR HISR HIUTIT SATAT FgUTATA?

a) AR b) et c) Iferr d) ssirer
Which country is known as the depot of Sugar?
a) India b) China c) Russia d) Brazil

73)  OH Sl A1 RN fAfgeledT gEIRRN @ HioT ?

a) WER 9ol VRIESIGES

C) STIYTA ARTIOT d) 3siew fgeoR
Who wrote the book ‘Prisom Dairy’ in the Jail?

a) Sardar Patel b) Pandit Nehru

c) Jayprakash Narayan d) Adolf Hitler

74) Tl o0 FUS RIS fohsrETell IS TYeeT STl ?

a) grfaar () b) IEF ()

c) 3o (STAUT SITka) d) STATATEIG (UTfehedTe)
Where was the Asian Games 2010 held?

a) Sania (China) b) Guangzhou (China)

c¢) Seoul (South Korea) d) Islamabad (Pakistan)

75) HRAT Gfgel 37 AFr e ...,

a) grExor b) dRTIX
C) SheUshd d) R
Which is the first atomic energy center of India?

a) Pokharan b) Tarapur
c) Kalpakkam d) Narora

76) IR gerd Hed Fhcl s r@d

a) a8 b) 33 c) el d) 9ra
What is the time period of the post of the mayor?
a) one half b) c) Six d) Five

12
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77) 3A@IHEY TWlelleldeh! IV Sliideddcd 31Td ?
a) & b) 3 c) ¥ d) 31

Which of the following vitamins are there in Avala(myrobalan)?
a) K b) D c)B d)A

78)  THTHIA & I[UMEIshd TehT Il Tedlam 31 IO Wield TehlUTdw=THaT 318, TR Fdlicier
Fqerrdr Fer Rt 2
a) 64 b) 65 c) 66 d) Imdehr ARr

Ramakant got the sixteenth rank in his class. If the on the forty ninth rank from the last. How many
students are there in his class.

a) 64 b) 65 C) 66 d) None of these

79) R JTFIST 000 ISl WHAR BT, A fo el 233¢ s HIUIAT IR
gl ?

a) 9IFAAR b) IdaR c) faar d) shar
There was Monday on 2 October 2000. Then which day will be there on July 19987
a) Monday b) Sunday c) Saturday d) Friday

80) AT : T&IeT : : HeTTitheltd AT : ?
a) g b) TeldT c) Helkar d) FEX

Find the relationship and answer the questions.
DOG : RABIES : : FEMALE ANOPHELES : ?
a) death b) Plague c) Maleria d) Cancer

81) MGUZ : AVHN : : FERA : ?
a) GFSB b) UVJZ c) BSFG d) BSEH

82) SR SHARP =T Trehfde d&AT 58034 30T PUSH =T Trehfdes T&AT 4658 3T R
RUSH " drehfdes d&ar fordr ?

a) 3568 b) 3658 C) 3685 d) 3583
If the code SHARP is 58034 and the code number of PUSH is 4658 . Then what will be the code
number of RUSH?
a) 3568 b) 3658 C) 3685 d) 3583
( |
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83)

84)

85)

86)

87)

RRGT 3Med” X 1 AR ATelleRlel ATd ra?
a) 3 b) a&rer c) FT d) e A,

Pointing to a photograph Anjali said, “ He is the only son of my sister’s brother’s father” .
Then what is the relation of that person with Anjali?
a) Mother b) Father ¢) Mama d) None of these

Qlellel TEATHTCIAS b e 35T
Find out the wrong number from the following number series.
78, 77, 74, 69, 60, 53

a) 69 b) 74 c) 53 d) 60

UehT TSI ¢o dlofel to AT ST 3. a¥ e rer g fAfAe #er araelia e
fopdT 3721 3184.

The time in a clock is 10:10 . then What will be the angle between the hour and minutes hand.
a) 120° b) 115° c) 125° d) 130°

aﬁ?rqi@ﬁa;rcrﬂmﬁuﬂ%yﬁm’w FITATST Bk 132 g, d¥ o&T il T&ITdTe
W& fhdl 313 ?

The ratio of two number is 7/4 . The deference between their squares is 132. Then what will be the
deference between that two numbers?

a) 3 b) 6 c) 9 d) 12

GTollel 31|e|3c1“|d SEAT SIEd TohdT [FenioT 31MR.

How many maximum triangles are there in the following figure.

a) 15 b) 13 c) 11 d) 10

14
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88) YATUegI=AT SR JUIRT JNTT qATT AL,

Find out the option in place of question mark.

3 4 5
3 7 12
3 ? 22

a) 11 b) 10 c) 9 d) 8

89) WIellcTUeh! PIUMET HEl HA 3H Fgeol il ?

a) TERTH Isie b) . #reReA

C) SIRRTH THA d) SY.TeT. AehsuT
Which of the following is known as a Metro Man?

a) Raghuram Rajan b) E. Shridharan

c) Jayram Ramesh d) B.N. Shrikrushna

90) SLUSTSRIE AW FNT faeardis @reiier Yl HIS 31Te.
a) 3THATEA b) 3ehlell c) AR d) IadATS

Where is the Dr. Panjabrao Deshmukh Agriculture University?
a) Amravati b) Akola c) Nagpur d) Yavatmal

91) WA AgaTdd & WAIg HIUcAT W2l HTSd 3Te.

a) AHLTS b) Sifegar c) ssfAest d) gefeee
Sayna Nehval is the related with ................... Sports.
a) Shooting b) Boxing ¢) Badminton d) Chess

92) HRAAT JHCAX AR godl HHT ST ?
a) 13 38X b) 26 silegeR c) 11 xR d) 2 3R

When did the terrorist attack on Indian Parliament ?
a) 13 December b) 26 November c) 11 December d) 2 October

93) 12 9 fagIEr AIffcT AT 2014 ALY FIS el

a) fss b) SIa c) g d) Has
Where was 12t Vidrohi Sahitya Sammelan held?
a) Beed b) Belgaon ¢) Ghuman d) Mumbai

15
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94) HRAM THGT FHIHASBIST HAT HIOT 3Ted.

a) GuAT TR b) aredT RISt ST
c) dehzar Ay d) 37%0T Sicell

Who is the Parliamentary working minister of India?

a) Sushma Swaraj b) Sadhvi Niranjan Jyoti

c¢) Vainkyya Nayadu d) Arun Jaitley

95) HERISCIAIA HaIfteh AJGRAETT delell [oTegT HIvTdar ?

a) Hag A b) HES TR

C) CIQ'@I' d) aror

Which of the following district has the highest voters in Maharashtra?
a) Mumbai City b) Mumbai

c) Pune d) Thane

96) WTelTerdehl SIUTAT AT FHISTT 3TE.
a) T b) FeAE c) 3THETHSS d) geFeusT

P} P}
Which of the following is the contagious disease?
a) Cancer b) Diabetes c) Leprosy d) Influeza

97) WrelloiehT Tofellel HaTd gelehl U] HIUTAT?

a) fodher b) fafds c) STEd d) 9rT
Which of the following is the lightest metal?
a) Nickel b) Lithium ¢) Zinc d) Mercury

98) AT AT FAAH ..............

a) T b) =T NEEGE d) el A
Who is the generator of Russian revolution?
a) Stalin b) Lenin c) Breznevh d) Karl Marks

99)  WreleTteh! HIUTAT N WIAYHAN FaTTeleh HHCY 3Te.
a) frar b) 3ART c) helsT d) ¥R

In which of the following country uranium is found in a great quantity?
a) Russia b) America c) Canada d) India

100) & RTIRN TaamEy
a) ATHI b) Rarer c) WIeH d) q&Td

)
Which of the following is the capital of Saudi Arebia?
a) Maskat b) Riyadh c) Khartum ° d) Rabat

—t
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